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DEPARTMENTAL EXAMINATIONS (COMPUTER BASED TEST)

Departmental Test in the Manual of
Name of the Firemanship for Officers of Tamil Nadu Fire 053

Test: and Rescue Services - First Paper
(Without Books)

Maximum Time: 2.30 Hour ' Maximum Marks: 100

IMPORTANT INSTRUCTIONS

|
OBJECTIVE TYPE
QaTTGN lens eNearTd Heit

Read the followmg instructions carefully before beginning to answer the
questions. l

AamsasEréEe alomLweféssd QAFTLRIGD (L6 &;;éa&sﬁm_ SiMeYenIHemend
SEUETLOMSL Lilg.&&6LD.

1. This computer based Test contains 100 nunﬁber of questions in objective E
Type.
Anss sl afls Cafoumarg), 100 QaTHGN almauNeomeT eNaTTésamends

(AT (7,701

2. Answer all questions. Eéch question carries one mark
Smersg amdsErsGh alm_walssald oaQarmg olamabd
LOSIICILIGHT 2 6mLLIg).

3 In case of doubt, English version is the Final. '
lamssefsd  #HCoHaL QuuUilar | augalld Qar@ésiul e
aenrssGar @mSiuimers)

4. Words of masculine gender in these questions shall, where the context so
require, be taken to include feminine gender.

@By elamsseild GLib QummyeiTen| gy, 6dor urreﬁ]mg,g,summ U & M &S Barflsh
Caemeullligstl, &WOECHDOL  Quetr  LTeSlars; s euifleor GUITJ & 6M G &(EMHLD
SILRIG1D.

5. Before answering the questions in CBT, candidates should read the following.
instructions displayed in the monitor:

ellguemuugmjeet safafll aufls Cojelhe olowelsss QFTLRELD
et seeullstt  Haopulled  Camsimild sl EHmeT  SHeUATLONSL
Lig&&6)LD.

a) One question will be displayed on the|screen at a time.
@Gy ChysHled @ aferm GO safals Hanguisd G rermLb.




3.

The value of atmospheric pressure is
cuaflner_vdbdlerr oi(pSSD ereren ?

(A) 10 Bar (B) 100 Bar
10 unm 100 wmr
(C 1.013 Bar (D) 110 Bar
1.013 wunr 110 wmr

Which one of the gas is used in catridge type fire extinguisher as an expelling agent?
Swevemriiunensafler Geuefl 2 bg eumueurs LweTLRSSILEID UMY 6Tg) ?

4 CO (B) N:

(C)y CH;y (DY CO-

How to find out efficiency of pump?

L Qe Sperr ereueumrm sewrLHlwiuE g ?

(A) WP/BP x 100 (B) BP/WP x 100
(C)  100/BP x WP @/WP x 100/BP

What is the theoretical suction lift?
HuwClygad Casgen Ol eremer?

A) 9m By 10.3 m
9 8 10.3 8
(C) 8m (D) 7Tm
8 8 78

[f a temperature remains above freezing point, which of the following sprinkler
system will be used?

Qeuiuwnarg e @mphamasE dswrs oder Curg Spsan. ehs grafwmd Hi
Qgefliumer LweTuREDg) ?

(A)fF Wet fire sprinkler system (B) Dry fire sprinkler system
ey gresflwndl Cgefliiume 2 i graflumdl Cgeflliimer
(C) Down fire sprinkler system (D) (A) and (B)
Lajer srefwndl Cgefltiumer (A) wpmid (B)
3 029/DD/22
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2.

Types of rising main 1s
&S 2 wirsdlseflen cuamsser régemen ?

@/2 B) 5

(C) 10 ) 1

Fusible alloys is used in which detector
2 (G STl SpsarL apg 4QLsLTsefld LwaTuRSSILGEDS ?

(A)4 Heat detector (B) Radiation detector
Qe QL &L gdlraiss QL &L T
(C)  Smoke detector (D) Ionization detector
Lens g6 gL oG uTanarGsage g6l &L T

What position is required for unconscious person, but breathing naturally?
GMSlE@GLD, WGSBS BLTsmer Spasa ahs Hlaould meiss GCeuemHib?

(A)  Record position (BY Stable side position
udle| Hlene Hlencowiner Lisseur () Hlene
(C)  Unrecord position (D) Un Recovery position
Ldefever Hlene BSerrg Hlene

Which three of the following are elements of structure within a building?
EpsaT_aIhmeT crenel &l igl denolider Lgdlser?

(1) Columns
&TELDGL

(11) Beams
Sibeh

(111) Sandwich panels
sneneNd GLeareden

(iv)  None of the above

678 @0l cbeney
(A) (), @), Gii) gB)/m, (ii)
(©) @), Gib), Gv) D) (i), (i), (v)

029/DD/22 4




10.

iy 2

12

13.

14.

In liquid CO2 Extinguisher, the capacity of COzin the Cylinder 1s?
CO: Sweaniiunansafleds Hyeu CO2 Blyiyb Bjerey eremer ?

A) 34 @/5/3

C) 1/2 D) 1/4

Limestones are composed principally of
SETETTDLGSHEH SDSETL GTEUHMTE 2_(hHETamg) ?

(A)  Sodium Carbonate (B) Magnesium Carbonate
Cemguib smiuGerrt wéeTAwb smiruGert

C Calcium Corbonate (D) Calcium Carbide
snedlwid sriruGart sTOH WD sTienL(p

Length of the Ceiling Hook
gaany Cangdlufer Bard erever ?

( 2.5 m (B) 2.6m
2.5 18 2.6 8

(C) 27m (D) 3m
2.7 8 35

Which one of the following is not a method of heat transmission?
Qetreu(meuareupmieT ergl Geutiu uflorHp wpedp 66w ?

(A) Conduction (B) Convection
Qeuliu &LS5ed (LpevD Qeuliuggevar (pem
(G Sublimation (D) Radiation
LBIGIDTHE (LPenD sflreids (penm

When using FMB, the required level of water pressure?
FMB vwenu®ggib Gung piler oipsdlen GCaaneu ?

( 7 bar (B) 10 bar
T umir 10 wmrr
(C) 2.5 bar (D) 4 bar
2.5 urmrr 4 L
5

029/DD/22
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16.

17

18.

19.

"Which FMB used on operated in self inducing mode?
6Ths auans Hien] SWTf&@D GWT &w gram @ wpevpuiled LweruOSsLUBE DS ?

FB 5xMK II (B) FMB 10x
(C) FMB 2x (D) FMB 24x

What is Foam Low expansion ratio from?
mienyuller @enpps eflfleunss elllgd eremar?

@/2;1 to 20:1 (B) 2:2 to 20:20

(C)  1:2 to 20:20 (DY 2:3t0.20:30

The expansion of foam measured by
mey elfleunésd erger ppeald SerellLiLB&E g ?

M Comparing the weight of foam volume of the finished foam

o dreTUlg BT eranl e Hlep dsliul L penjudler erentulener eUblHge
(B) Level of foam solution

Bienys Siellen jeTey
(C) Level of foam quantity

Biengullen oieTey

(D) Level of foam quality
By srdlen siarey

Hook Ladder length
Qanésd) eremflufer Berib?

(A) 3.5 meter (B) 4.5 meter

3.5 B 4.5 B
(C) 7.5 meter D} 4.1 meter

7.5 Bk 4.1 S
Abbreviation of BHP
BHP eréuigernr eflfleumdaid
(A) Brake hose power y Brake horse power
(C) Brake hosereel power (D) Break hose box

029/DD/22 6
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20.

21.

22.

23.

24.

Which one of the following gas is heavier than air?
Qetraumpid aurussaildy erg srhepmellL. searTeng) ?

COgq B) CO
o/

(C) CHs (D) None of the above

What is the Formula to find out discharge rate of pump?
L Ger B QeueflCuipmid jeteneu seamBGq&@&HD GSSTn?

(A) L=2/3JPL (B) L =3/3d*\PL
) L-2/3d°\PL Q/L:zfsdﬁﬁ)'

Normal RPM required for water ring primer
aurc_ir M GeogfladlpE Coseeuriu@nd RPM erdueuarey?

M 2500 rpm (B) 2000 rpm
(C) 3000 rpm (D) 4000 rpm

Tachometer is used to measure
Qi &Gam B L GeraupauaeuhmieT Teng Bierds LweaTLHEna?

(AYF Speed (B) RPM
Geuslb RPM
(C)  Pressure (D) All the above
S BB Qe o@angg b

Hose reel hose is a non-percolating delivery hose of small internal diameter which is

normally diameter.
gev T gev ererug GQumgeuns o o1 &L b Qarewr gewerudl g aNFCuITS
GPTL G ?
(A 19 mm (B) 63 mm
19 5.8 63 1O
(C) 100 mm (D) 2.5 feets
100 A8 2.5 9jq

7 029/DD/22
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25.

28.

29,

2.

Collecting Breeching normally have
Quigleins sCe&L g AFFsn ereriig?
(A) 1inlet and 1 outlet

1 @erCel wHmd 1 ey Geor-
(C) 2 inlets and 2 outlets

2 @er@el wHmIb 2 ey el

(13/2 inlets and 1 outlet

2 @anrGlel womib 1 ey Gevl

(D) 1 inlet and 2 outlets

1 @erQal wHmibd 2 e Gevl

What is the approximate life of normal type water sprinkler head?

B Qgefliumensefler Csmymuinmer Ll smen?

(A) 50 years
50 =y e (Haer

100 years

100 sy ar(Hser
2 years

2 & (H&eT

In the following degrees of exertion, which exertion is consumed less oxygen?
Epaari erhg 2 aplibd gsedlmer @ampelns GCseneliLipibd?

(A Rest in Bed

L sesulle @uiey eT&ELELTE
(C) Walking at 2 mph

2 enwed gryib BL &b Gumg

Rest Standing

BL&GD Gurg

Walking at 5 mph

5 enwé gy BL&@b Cung

Which one of the following allows to pump water into the wet riser and sprinkler

system?

Spsa(herareupmier eyl samanteny my 2 widd wHmib sreflwund Gseflvuraise Libl

Qauiul g dsdng?
(A) Fire alarm
& erggfliimetr
(C)#” Fire brigade inlet
5 ufGa® pieipa

Abbreviation of “PTO”
“PTO” eremigen aflfleumdaind

(A) Power Turn Off
(C)  Power Tilt Off

029/DD/22

(B) Fire detector

& ser () L1 g.LiLmer

(D) Manually operated

@aeummled enardg b

Mewer Take Off
(D) Piece Turn Off



g

32.

34.

In a Rope General rope work “Parbuckles” generally used to haul or lower which
kind of materials?

Qurgleurs  slpsamer samwsmear 2 wWIsHd(Bhs @nds LweauRD  “UrTusdlden”
(PEDENL ETEURIENSIITET &H6NLD&@EhE LWL (HSSTLD ?

(A) Square shaped
FGITDTST GUlg @D

(C)  Flat shaped

FIDGHET @llgeULD

(B) Irregular shaped
PUBREHD algeuld
(D ound shaped

2_(HEneT Gllg eIl

What is the filling color for 68 deg C rating Bulb type sprinkler head?
68 Ml Qevdlwey evGfitiser Lo Ger Herd eremer?

(A Red
Sauliy

(C)  Yellow
LD @hH&ET

(B) Orange
BT EHE

(D) Blue
Beod

Producing hot gases fire releases radiant energy in the form of
Qauiueumuéser o (haund@d § ahs uamsuler sdliaiss nnae CeuaflulRdng) 2

(A)  Visible light
Qafluyb ¢pafl

(C) Ultra-violet radiation

SOLgT euiGQel sdlieiFs

(B) Infra-red radiation
@erigr Gyl sdieiss
Dy All of these
@lene SMaTHg D

Which of the following detector is works based on ultra violet radiation?
SpasaT_cubmieT 6Tg Lpeagns slisemer SgliLamwrs Carar( ewdu®dng ?

(A) Heat detector
QeutiLs setor(h g LiLimebr

(C) Flame detector
& sourened &er(H)Slig LiLimesr

Ambu mark I1] is a
<o wrird 11 eresuig

(A) Automatic resuscitator
srafwnd QrgaellGL i

(C)  Fire extinguisher
SWIan T LI TG & 6T

(BY Radiation detector
sdlrel&a getr(hGig 1umer

(D) Smoke detector
Lens sar(HSlig.LLmebr

(BY Hand operated resuscitator
@EHWLITD @uis@h CraefGL L

(D) None of these
@aeunmed eTgia|dlerena

029/DD/22
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35.  Self contained closed circuit breathing apparatus set invariable users
pLLILIL L & o aTaTL&&d QameawL ppdads smelsaid LiweTubHSsLH IS 7

(A)  Atmospheric air (B} Oxygen
cuafloaiTL_eé &ThHm) 9, 58lage

(C) COg (D) Vacuums
COq QeupdlL_rser

36.  Which type of Fire Service Breathing apparatus set invariably use?
CThE IS ppFeHEHHeisEr Suemanlilsgemnuied LweTuHSsUiLHEng?

(A)  Self contained closed circuit breathing apparatus
PPLLILL L &W 2 6TaTL&&D QETerL ppdadsas(mellser

(y Self contained open circuit breathing apparatus
SD&EIULL FW 2 @TeTL&&b QaTarmL p&adasmedsar
(C)  Compressed air-line apparatus

&THN H(PSSHIMEUEEILIL L pPESHEHSHe&eT

(D)  All of the above
Cuh@Midl L sjenerdhg)b

37.  Breathing apparatus demand valve designed to provide
epsassmeisefler o drer Cseman entiumer (demand valve) ergen jglinenLufed
SBENLD&ESLILIL I (H&&GHLD ?

(A) Negative Pressure ('y Positive Pressure
MDD B(PSSLd CriTenm 24(pssLDh

(C) Normal Pressure (D) Positive demand
Hlepawimen 2i(pssLd Crrennwimer oi(péHsLd

| 38.  Which one of the following gas as wide range of flammability limits?
| Qetraund auryssaiied erhg umy dls ereliled § ubHmibd Hmer Gamer g 2

(A) Methane By Acetylene
155Gt /&g et
(C) Butane (D) Ethylene
Dyt GLen eré S el

029/DD/22 10
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40.

41.

42.

43.

Which one of the following is not an oxidizing agent?
Aetal(peueaieuhmieT 6rgl psaflenL & ghmer @deme?

(A) Oxygen
<, den e

(C) Sodium
Gamg uitb

The mixture of LPG
LPG-ér geeneu wing ?

(A) Propane and Methane
LyuGuer whmib B&Cser

C Propane and Butane
yyuGuer whmid Gy, GLelr

B)

(B)

(D)

Nitric acid
anpLlMé <dl

Methane and Butane

B&Csetr wHmib Ny GL_er

Butane and Ethane
Quy - GLesr oHmid r&ECeHe

A liter of LPG, when it converted to vapour, how much in liters?
@@ i LPG aggeer Sl urujeuns wrmib?

@y 270 liters

270 SL_Lir

(C) 470 liters
470 Sl Lit

(B)

D)

370 liters
370 L it

570 liters
570

LPG is odourless and colourless for the safety, to identify the leakage of LPG, what

was added?

LPG seir wpmib wawrd Sippg), eferGeu, oiflé Caisaiiul L freugder Guwir ereen?
(B) Methane

( Mercaptan
QDT&&TUIL_ 66T

(C) Ethane
&G e

What is the boiling point of propane?
YriCGuerr eurujefler Gamdlbleney eremen?
(A) —62°C
(C) =72°C

e

D)

156G et
Soap water
Gamiiy pir

@/-42%:

D)

-32°C

029/DD/22
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44.  Convection occurs only in
Qeutiuggeerd ebLi(heug

( Liquids and gases (B) Solids and liquids
Bron wHmid eurussete S wHmid Hreurisafle

(C)  Solids and gases (D) Solids, Liquids and gases
b wHmid euruydsefie S, Syeud wHmIbd eumu|&setied

45.  Portable powder extinguisher are available in sizes ranging from
DTGy GUeNS SUIERTLILITETSET 6Ths eTenl HMmID SeTelled flan_&dlemmen?

(A)  2-8 Kgs (By”1-12 Kgs
2-8 £4 1-12 418
(C) 6-8 Kgs (D) 3-10 Kgs
6-8 414l 3-10 414l

46.  What is the operating pressure of various types of powder extinguisher?
2 QMOTe| SuienamriLTersamer enswm@hd Gurg erhubib (P sLd ererer?

(A) 8-9bar B) 9-12 bar
8-9 unrm 9-12 umrrr
(C 7.5-15 bar (D) 6-9 bar
7.5-15 umr 6-9 umr
47.  Generally CO2 extinguisher stored in bar pressure.

Quirgains aaeane] (PdssHae CO2 Swmeniiumer emeaussiL(BSng?
(A) 45 bar @/56 bar

45 urir 56
(C) 65 bar (D) 35 bar
65 umr 35 umir

48.  What is the expansion of COz ratio in COz Extinguisher?
CO2 Swaentiiumeiier CO2zallfleuanLwybd eSl&lgid eretmer?

(A)  550:1 (B) 305:1

©)  250:1 @)/450:1

029/DD/22 12



49.

50.

How is mechanical foam produced?
QussTaNésd &HlGUTD ereusury 2 Husd Qewiwtiu@Emng ?

( By adding foam concentrate to water and violently aerating the mixture
sement(mLe BN seemeusamer CarugTeyd wHMID SiHs sTHm Coisssdlarmey b

(B) By the interaction of two chemicals
@rar® CeudlQurmsefler alenargeflarmed

(C) By adding aluminum sulphate + sodium bi carbonate + stabilizer
sigflaflun #goGul + Gamqwibd eu sriuCGar. + BHlaliubhsd sorudearmed

(D) By adding aluminum sulphate + sodium bi carbonate
si@lleflub gGui + Comquib eu sriruGer’ seliLidermed

Protein (P) — foam compound characteristics
LGrmiiger (19)-eir ey seveneuule LiewTL

(A Very stable + good burn — back resistance
e o mFlwrer + pe@ § Ber erdiiiny Qamenrg)

(B)  Unstable + good burn — back resistance
Hlevewowpm + pen@ erflwdsmigw ey Camerr g
(C) High contamination resistance
o Wi & ey Caremg

(D)  Relatively quickly
Ui Laredléd eflenyeouns Cameim g

Expansion of FFFP
FFFP eremuigenr elfleunssn

Film Forming Fluoro Protein (B) Film Forming Foam Protein
(C)  Film Foam Fluorochemical protein (D) Foam Film Forming Protein

What is the normal output of portable pumps?
crafldled er(hdg Qemedanigus Libyseflar symefl i QeuelGupnid Hmer ereuaiera;?

(A) 4000 LPM (B) 3000 LPM
(C) 2000 LPM gy 1130 LPM
13 029/DD/22
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D3.

What kind of priming devices used in Fire Service?
AP euens LIbLsERGE W& QummEsoer e erg)?

(A) Reciprocative (B) Exhaust gas ejector
QuéliyCGrrGaL_af arggmevl. GCaev eTeysLmT
(C) Water ring (DY (A), (B) and (C)
QUL LfT Ml A), B) wpmibd (C)

Two-stage and Multi-stage pump working pressure only at seeds excess of
rpm.
B <0sE wHnpbd v SOEG CQerar.. uby Geumeuler (P  eTETLg)
&@& G Qm&s GCeuamhibd ?
4000 RPM (B) 3000 LPM
(C) 2000 RPM (D) 1130 LPM

What 1s nanometer?
BrCermBL it ererLig)?

A nanometer 1s one thousand of micrometer
@ BréarmBrLi eraug) em BulrsHed e enwsGrmbir i

(B) A nanometer is ten thousand of a micrometer
@ BréarmblLi erarug LssTulTSHed e ewsECrmb i
(C) A nanometer is hundred thousandth of a micrometer
@@ prGarmBr L erarugl BIoTuldrsHed epm enwdGrmbii

(D) A nanometer is five thousand of a micrometer
@ BrGarmBr L eraug) @hsTuTSSd e evwsGrmbi i

What is the usual coverage area for ionization detector?
Curgauns swelwrés seir®H g iumeailer LFLiL) ereTer ?

(A) 1000 square meters (B) 10 square meters
1000 ggyy S 10 ggy B

(C 100 square meters (D) 1 square meters
100 sy St 1 ggyy S

029/DD/22 14



60.

Heat is transmitted in how many ways?
assmer auflseaied Geutiuid Lyedmg?

(A)  One (B) Two
PaTy @yain

(CyF Three (D) Four
eLPEST) LG

Example for man made Ultraviolet radiation
weflgarmd o (maundsliul L Lpeagn sfieisasamar aHESsEsT 07

(A) Current (B) Battery
LO\eBT&myLDd L) 6T & 6V 6oT
(C) Trees Q)/Tungsten lamps and Welding
LD &I & @IT L el e ellemd@aet Hmih Gleueigm

Which one of the following is not a routine maintenance of breathing apparatus set?
Gerreumeuarauhbled 61g saunssd sHedl awlider cupssnmer LUFTDRLIL e ?

(A)  After use the apparatus should be cleaned
Lwetur g h@ 9nE Qupdrsems assb Geuw Geiarr® b

(B) The face mask should be washed and disinfected
wpaeply supall Hmlsar BasiiuiL Geuer(H b

(C)  The visor should be anti-dimmed
(P& sevranTTlg. T TUIL DESOTS B)(H&HE Snl M)

(DY If the cylinder pressure is less than 80% of the maximum charging pressure,
the cylinder should not be replaced by a fully-charged one
Sfsliuguner  eniléd  Wssd 80%&E Gopairs @mpated Sl
(p(peIDUITg STy Gawul (piguing)

Which of the following is an important safeguard for breathing apparatus wearers?
saunsdasmellsdr saflueuma@hs@ (paédwinrear ungamiiemu e 6rg SHEDS) ?

(A) Distress sign unit (B) Disturb signal unit
g GVL 6 enaFerr whetl gLl fléered wyefli
(CY Distress signal unit (D) Distress singing unit
qavL_gen Sbeard wyafll el yav Sridn yefll
15 029/DD/22
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61.

62.

63.

Smothering defined as
Sullen euyib Fawrrssiu@eug ehs Hlaneudle
(A)  Limitation of fuel

erfl@umpsafler euybLy Hleveenws Qur(mss
(B)#"* Limitation of Oxygen

Yyrewr eumuyellelr augbly Blevavenws ClLmmSS)
(C) Limitation of Temperature

Qeutiugder aurby Hlenewerw QuTmHSS
(D)  All the above

CuhaTamilb emeardg)b

Which of the following is a formula for calculating working duration for breathing
Apparatus?
Geraumeuareumled seurgssmellufer Couane Crrb sansdl(hHeughanar @slyn eremer’

(A) D= P*C/N*40)-40 (B) D = (P*C/N*40)-30
(C) D= (P*C/N*40)-20 y D = (P*C/N*40)-10

Which of the following is not a duty of officer-in-charge regarding breathing

apparatus?

sounsssmeller o LCunasHer Cumg Gereumeuareubdledr erg GQummiiiy Samfluder

Lienfl 2i6ben?

(A) Deciding whether breathing apparatus is required to deal with the incident
sbLasmg Frallés saunsssmel ComeutiLBor erarams Sroreaflssed

(B) Deploying breathing apparatus teams as necessary and ensuring that they are
as well briefed as possible on the task
gounssasmedl enfleug SsHwumeSliubreTsT ETETLMSL|D, G Lewl eremer
TS LTTéHeGauer(Hib

(C) Ensuring that enough breathing apparatus and associated equipment 1s
available to deal with the incident
ghueuGmg gwreaflds Gumgomer seursssmell wHOID  ger CmmyeLw
o LIGITRIGET 2_dTaraneur erareng 2 mid GeuiwGeauam(Hb

(DY YAt the time of incident breathing apparatus handover to public
sbueusdler Curg saunsssmeiluidanar Gurgssaitb QaT@HLiLg

029/DD/22 16



64. There are three type of pumping appliances in JCDD which is not correct from the

following?
JCDD-é epermy euans o pbd o Lsravmser o dater gafld Spsarieupher g
SEUDTEE) ?
JCDD 10 (B) JCDD 3/1
(C) JCDD 4 (D) JCDD 18

65. How many types of pump mountings?
THHENET GUENSWITET LU Qomereye iqmiey 2 arerer?

A) 1 B) 2

(g]‘ 3 (D) 4

66. How many types of PTO?
aggamar auaswinear PTO o drerg) 2

@A) 1 B 2

N 4 (D) 3

67. What is the length of Hosereel in special tender?
A carirdlufer Hosereel Serib eretrer?

(A) 50 meter me meter

50 B 55 B
(C) 60 meter (D) 65 meter
60 S 65 B
68.  Catch on the lower part of a ladder 1s which prevent an extension above
from running back.
Bigui gellufer GuouEd §Cp @nmsmod, ——— UGS urgeriuns Ggédng?
@/‘ Pawl (B) Foot
LIGUGD umgLd
(C) Pulley (D) Rung
&4 eamtlLiLg
17 029/DD/22
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69.

70.

{1,

72.

73.

The rubber gloves usually by the service are those which are tested to

Qungiaure Cemeusefld LwWETUESSUUEDL TUUT  @SL@DET —— 616,
CendlsariLihlemper.

(A) 5000V (ME)OOO \%

(C) 10000V (D) 240V

Which of the following is powered equipment?
Spaaraupie erg Leum ( (powered) 2 LigyanTid ?

(A) Hydraulic Jack (B) Tirfor
@anL el mmd T AT

(Cy® Hydraulic cutter (D) Flame cutting equipment
el _yredld &L T SUIGETD &L gkl 2 LIGFeRTLD

Which of the following is non powered equipment?
Spaa_eupPe ergl prer Leui () (non powered) 2 Ligyerid

( Hydraulic Jack (B) Hydraulic Cutter
@@L medls ems @ADL Tredld SU LT

(C) Hydraulic spreader (D) Chain saws
eanl_ymedld euiqy i Qauflerr g

What is the high pressure of air lifting units?
o g m wefll -S&mar o wif S (PSSLd eTeme ?

(A) 0.5 bar (B) 4.5 bar
0.5 umr 4.5 umm

(9}8.5 bar (D) 10.2 bar
8.5 umir 10.2 umi

What is the lifting capacity of Air lifting units?
o eSlliigm ypefll -6r grd@b Smebr eremen ?

( from 5t to 70t (B) from 20t to 45t

St s 70t (pigw 20t apsged 45t pigul
(C) from 20t to 25t (D) from 5t to 25t

20t pgeb 25t pigul 5t psed 256t (pig
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74.

76.

47

78.

Which gas is not used in flame cutting equipment?

618 SUIGard &l igm 2 Lsragded LweTLRSSILOID eumy| H6e?

(A)

(C

Oxygen

< &eflegen
Hydrogen
G EUD L[] ER 6T

In services Rubber gloves is used upto
Coenaiuflen Cung @IUUT &L DEMmeT

(€)

3300V
240V

What is the unit of Jet Reaction?
Gl Muingsener eTé@hd e, 6reeaT?

(B) Acetylene
T 3 [~ =3

(D) Propane
LrtiGuelr

cueny L HGWL LweTu(HSsGaeam(HID.

(B) 250V
(D) 15000V
(B) Kg
8.4
(D) Pascal
LIMTe& 6D

When the water hammer can be happened?
eri@umpg eur it Gamioi LG Emg »

(A)
(B)
(C

D)

What is the equal value of atmospheric pressure in Newton’s?

Sudden increase of pressure
SlleCyar Aams@h Si(WPssLd

Sudden decrease of pressure
Hle Qe @GmméEGD S(PSSLD

Sudden close of delivery branch piped

He Qe QAy@péanuits e ILSTED
(A) and (B)
(A) wpmid (B)

auaflinar e 2i(psssHen @enemruwimar Bl L 6T HeTe| GTeimen?

(A)

N

100 300 N/m?
101 325 N/m?

19

(B) 100 400 N/m?
(D) 105 000 N/m?

029/DD/22
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79.  What is the practical suction Lift?
FNg&OTEr 2 MEhdLd B6T6 GTeman?

(A® 8 meter (B) 10 meter
8 B 10 B

(C) 5 meter (D) 4 meter
580 L 4 S

80.  Where the frost value is being used
SUGTTEL eumebe 6@ Liwemu@EDg?

(A)  Fire Tender (B) Pump
Swenanriiy oeriduiley LILDL

(C)  Fire Extinguisher (DY "Hydrant
SuienemriiLimest QDI TGTL

81. In following, which is not correct?
Epasareunde ereveu sflwirerg ee?

(A)  Wire rope is a combination of steel wires arranged around a central fiber core
&L sullmy ererrigy Sevuit CamiT &HM 6res@ sbGsamer Gamear g

(B)  The “right hand lay” is referred by the symbol “Z”
g Ln sy Gereard Z farargsmd @hlésiiu@Eng
(C)f " The size of a rope is denoted by its name
@ sullpder seta) siger Gurerailed @MlésiLBEng
(D) The “Left hand lay” is referred by the symbol “S”
GLrg up slny Gerared S Heananggmed @GmHabsILBS DS

82.  What is the length of personal lines?
uirgened suipdlesr Berd eresren?

(A) 50 meter (B) 30 meter
50 B 30 B

(C) 100 meter ( 6 meter
100 S 6 S
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83.

84.

85.

86.

Which Line is used to steady a person being lowered?
@aieny G @néEnaunys soflaaliu@ss abs suln LweaTuREs LGS DS ?

(A) Short Line (BY Tail Line
&L GNEVGIT QL uded eneverr
(C)  Guide Line (D) Personal Line
() EeLesT QuiTgaTed eV

Which of the following are correct

Spsar_eupdle sflwmerg ereneu?

() Fireboat lines are usually 200 m in length
Fireboat suWlgy Qurgeurs 200 5 Berb Qamemr g

(II) A tail line is about 6 m long
Tail line ererigy 6 5 Serd QamarrLg

(ITI) A guide line should be 60 m long
Guide line erarigy 60 8 Serid Gamesr g

(IV) Short lines are usually about 15 m in length
Short lines eréirugy Qungieuns 15 15 Herib Camer g

(A) () and (II) v(l), (II), (III) and (IV)
(C) (D), dII) and (IV) (D) @), dI) and (III)

“Thumb Knot” 1s also known as

SBBHTL eTeTLg — erara|d ML EDEG ?

( Overhand knot (B) Reef knot
parCaner B L B

(C)  Figure of eight knot (D) Fisherman'’s knot
s @l erudl B Sol1agTGLeren B

Which is an alternative to the over hand knot?
et Caner BT (H&@ WIHNn (Pu&e e1g)”

(A) Fisherman’s knot (B) Thumb knot
SoliagTGieren Bl S BT
(C) Reef knot (DY ¥Figure of eight knot
WL SolA&T gyl erufl Bl
21 029/DD/22
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87.

88.

89.

90.

Vi,

JCDD stands for
JCDD ereriigy

y Joint Committee on Design and Development of Appliances

(B)  Joint Commission of Design and Development of Appliances
(C)  Joint Committee of Development and Design of Appliances
(D)  Joint Commission of Design and Development of Apparatus

Which element is not in ladder?
Lenfluded 2 miliLy SieTsE eraneu?

(A) Head (B) Heal
Glamt &

(C)#® Tie rod (D) String
LUl [Tl el

What is the BS Number for Extension Ladder?
SOy genfluierr BS erewr erevre?

(A)  BS-2030 (B) BS-1037
y BS-2037 (D) BS-2020

Short Extension ladder weight should not more than

A gy ganfluler eren_uwinarg ————— G @(més gnlng?
(A) 225 Kg (B) 28.5Kg

22.5 84 28.5 £4)
(C) 23.0Kg (D, 4.6 Kg

23.0 £4) 24.6 4

Which are the Extension ladders length?
Brguiy geanflufier Berib erevre?

(A) 9m, 10.5m, 20 m (B m, 10.5 m, 13.5 m
9.8, 10.5 16, 20 8 9.8, 10.5 15, 13.5 15

(C) 10m,20m, 22 m (D) 7.5m,10.5m, 125 m
10 5, 20 f, 22 15 7.5 6, 10.5 5, 12.5 15
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92

93.

94.

95.

What is the breaking of 13.5 meter extension ladder?
13.5 8 Brigiy genfludier 2 e b L@Eh ererer?

(A) 1.0 Ton (B) 1.2Ton
1.0 Lebr 1.2 Leir
(C 1.8 Ton (D) 1.4 Ton
1.3 e 1.4 Lewr

What is the length of one-piece of Roof Ladder?
sgaeny genflufer @ LGHular Berd ereme?

(AY*4.5 meter (B) 5.0 meter
4.5 B 5.0 S
(C) 5.5 meter (D) 6.0 meter
5.5 Bui 6.0 B

Maximum weight of Folding hook Ladder
wig Ui abé geflulier ifariul & erenl?

(A) 16 Kg By 18 Kg
16 A4 18 £4
(C) 20Kg (D) 22Kg
20 £4 22 £4)

What is the weight of Hook Ladder?
Q&rad cenflufen erenL eTeTerm?

AP 13.2 Kg (B) 14.2Kg
13.2 84 14.2 84
(C) 15.2Kg (D) 16.2 Kg
15.2 £4) 16.2 £4

23
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96.

.

98.

ga.

100.

Which material is used for flashing and roof metals at 372°C and therefore presents
a danger of molten to fire fighters working beneath the roof?

abs Qurmener LweTLRSS Cupameapuiamer @LEHBEGD Gurg <ig 372°C -
o QDL oo ghu@b Cury oibs Fowsdd Suamenriy efpiser smeyuiearn S
Lenflyfeug lisemg ellaneraiis@ib

(A) Copper (B) Zinc
by SISSHISD

(C Lead (D) Bronze
Srifwh Qeuaraeid

Which one of the following is standard describes classification of fire?
Setreupeuareupmer Sufer euanasuTL B s7b DD GHUUG 6rgl?

(A) BS-EN4 (B) BS-EN3
(_C)/‘BS-ENz (D) BS-EN1

The Turntable ladder, full extension of the ladder is possible while it 1s
LanGL 96T G eny ppemwins erhs Heaveudd BLigss pgun?

(A) Vertical (B) Vertical and Horizontal
Qem@GssTs Qem@dsns wHmID S bl L 0rs
(v Horizontal (D) Not Possible
SenL_bl_ L 1ona snsSluib @erene

Melting point of Bronze 1s
Qeuarsasdlen 2 (hEblane

(A)  500°C (B) 700°C
(g\ 1000°C (D) 1500°C

What is the use of compartmentation?
suni’ Qe GLager Lwes ererer?

( To prevent the spread of fire (B) To prevent the flood
& ureudsamer §H&@LD Qeudrersdled(mbg LIMg &M @b
(C) Easily evacuation (D) Using for car parking
craflgng GleueflGuimise &1 Bmiss LwerLmb
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